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QUESTION 1

Given the two SQL procedures shown below:

CREATE PROCEDURE s2(IM p1 INT, QUT p2 INT)
BEGIN

SETp2=p1+3;
END

CREATE PROCEDURE s1{IN w1 INT, OUT %2 INT)
BEGIM

DECLARE w3 INT;

SET+3=%1+1;

CALL 52(v3 v2);

SET w2 =wd + 2
END

What is the expected output if procedure S1 is invoked with the value 1lprovided for parameter V1?
A. NULL

B.2

C.5

D.7

Correct Answer: D

QUESTION 2

Given the following script:
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CREATE OR REPLACE YARIABLE nest_|evel INTEGER DEFAULT O

CREATE OR REPLACE TRIGGER trig1
AFTER INSERT OM table
FOR EACH STATEMENT
BEGIN ATOMIC
INSERT into audit! vaues(nest_level +1, 'FROM TRIGGE=R'"),
END

CREATE OR REFLACE PROCEDURE myproc (p1 int)
BEGIN

SET nest_level = 1:

INSEXT INTO table! VALUES { p1 + nest_level TEST1Y;
END

call ryprocis)

What would be result from the SELECT * FROM audil?
A. NLEVEL MESSAGE 1 FROM TRIGGER

B. NLEVEL MESSAGE 2 FROM TRIGGER

C. NLEVEL MESSAGE 2 TEST1

D. NLEVEL MESSAGE 5 FROM TRIGGER

Correct Answer: B

QUESTION 3
Which statement will successfully create an SQL procedure that returns the name of the current month?

A. CREATE PROCEDURE proc.current_month(OUT month VARCHAR(20)) BEGIN DECLARE today DATE; SET
(today = CURRENT_DATE); SET month = MONTHNAME(today); END

B. CREATE PROCEDURE proc.current_month(OUT month VARCHAR(20)) BEGIN DECLARE today DATE; SELECT
(CURRENT_DATE) INTO today; SET month = MONTHNAME(today); END

C. CREATE PROCEDURE proc.current_month(OUT month VARCHAR(20)) BEGIN DECLARE today DATE; VALUES
(CURRENT_DATE) INTO today; SET month = MONTHNAME(today); END

D. CREATE PROCEDURE proc.current_month(OUT month VARCHAR(20)) BEGIN SET month =
MONTHNAME(SELECT (CURRENT_DATE)) END

Correct Answer: C

QUESTION 4
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A developer needs to create a user-defined functionthat will return a list of employees who work in a particular
department. Which statement will successfully create a function that meets this objective?

A. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE LANGUAGE SQL READS SQL DATA
RETURN SELECT empno, lastname AS |_name, firstnme AS f_name FROM employee WHERE employee.workdept =
dept_employees.deptno

B. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE DYNAMIC RESULT SETS 1
LANGUAGE SQL READS SQL DATA DECLARE emp_info CURSOR WITHRETURN FOR SELECT empno, lastname
AS |_name, firstnme AS f_name FROM employee WHERE employee.workdept = dept_employees.deptno OPEN
emp_info; RETURN

C. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE (empno CHAR(6), |_name
VARCHAR(15), f_name VARCHAR(12)) LANGUAGE SQL READS SQL DATA RETURN SELECT empno, lastname AS
I_name, firstnme AS f_name FROM employee WHERE employee.workdept = dept_employees.deptno

D. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE (empno CHAR(6),
|_nameVARCHAR(15), f_name VARCHAR(12)) DYNAMIC RESULT SETS 1 LANGUAGE SQL READS SQL DATA
DECLARE emp_info CURSOR WITH RETURN FOR SELECT empno, lastname AS |_name, firstnme AS f_name
FROM employee WHERE employee.workdept = dept_employees.deptno OPEN emp_info; RETURN

Correct Answer: C

QUESTION 5

In which type of table space must global temporary tables be created?
A. REGULAR

B. LONG

C. SYSTEM TEMPORARY

D. USER TEMPORARY

Correct Answer: D
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